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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-8 0
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P3-8

BrE) | GEBAKE) | ERE(EH/AR) | EREE (G/R) [ XS R

07:15 273 150.0 2.583 |Z=| {Ri&e07:15 Bz (REEHE
07:50 273 150.0 2.583 (Z=| {Ri&@07:50 Bzh (FAEHSE)
08:30 273 150.0 2.583 (£ =| {Ri%@08:30 Bz (KRAERHSE)
09:20 273 150.0 2.583 (Z=| {Ri%@09:20 Bz (FRAERSE)
10:00 273 150. 0 2.583 PH| 1{ERi%e10:00 Bz (KRAEFERSE)
10:35 273 150.0 2.583 FA| 1B2i%@10:35 B3h (kAIEREE)
11:05 273 150.0 2.583 FA| 1Bzi%@11:05 Bzh (RAERESE)
11:35 273 150.0 2.583 FA| FnHR@11:35 B3h (RAERESE)
12:05 273 150.0 2.583 |/fu| FhHEA@12:05 Bl (KREEZEHSE)
12:35 273 150. 0 2.583 [/A| FmHF@12:35 HEh (KAEESE)
13:05 273 150.0 2.583 [/\ili| Fi#He13:05 Bz (REEDSE)
13:35 273 150. 0 2.583 [/\i| FHRe13:35 Bz (kAERE)
14:05 273 150. 0 2.583 |[/\A| FhHF@14:05 HEh (KAEESE)
14:40 273 150.0 2.583 [/\ii| FiHR@14:40 Bz (REAERSE)
15:15 273 150.0 2.583 |/i| FmHA@15:15 Bzl (REERSE)
15:55 273 150. 0 2.583 |[/A| FmHF@15:55 HEh (KAEESE)
16:40 273 150. 0 2.583 [/\A| FhHA@16:40 HEh (KAEESE)
Bit] 4641.0 (170%) 2550. 0 EWHKEC: 2200, PH: 6.0

FREVE NS K it i%PH 6. 005
#[EKECE (1760.0 vs 5107.0) 35
FRBVIE NS R IFIREC 2200. 0
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P3-8_0, Day=76.0 (2025-06-13)
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P3-8

BfE) | GEBERTIC (7)) | ERE (EAH/#F) | EREE (B/R) | X8 R

06:25 283 150. 0 2.583 FA| 1BRi%@06:25 B3h (FKA{EREE)
07:25 283 150.0 2.583 FH| {RRi&@07:25 Bz (RAEESE)
08:40 283 150. 0 2.583 FH| 1RRi%@08:40 B (FRFA{ERESE)
12:30 283 150.0 2.583 [X/| {Ri%e12:30 Bzh (FRAEHSE)
13:25 283 150. 0 2.583 FE| 1Ri%e13:25 Bz (REAERSE)
14:05 283 150. 0 2.583 FH| 1Ri&@14:05 B (REAERSE)
14:45 283 150.0 2.583 FA| {Ri%@14:45 Bz (GGRAEEE)
15:30 283 150.0 2.583 |Z=| {Ri&e15:30 B (REEZEZE)
16:25 283 150. 0 2.583 [ =| Rige16:25 Bz (KAFEHE)
21t 2547.0 (9%) 1350.0 3EIHKEC: 2200, PH: 6.0

FEREHERE STEELRF (182.0 :

2RI\ EPRERE150. 0 ml.
FRAVE NS KFHZPH 6. 005
#[EKECE (1803.0 vs 5283.0) T 5
REVE WS K iKEC 2200. 0

150.0), FAIEEHT—@E XAH5




P3-8_0, Day=75 (2025-06-12)
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P3-8

BrE) | GEBAKE) | ERE(EH/AR) | EREE (G/R) [ XS R

07:05 283 150. 0 2.583 F|  {Ri%@07:05 Bah (RF{ESE
07:40 283 150.0 2.583 F  BRi%e07:40 Bz (GRAERESE)
08:40 283 150.0 2.583 5| {Rig@08:40 Bz (KRAMERSE)
09:25 283 150. 0 2.583 E BRi&e09:25 BE1 (RAERERE)
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